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%3 i\yg‘gm‘r

%

BEs kgL gARL AR A4 (1/2)

FTIF] | H 4 5
E3ack £4] 4 EfGHLE |ERE 4 R | E AL E R ATRE ERE
S L S L £ RRTEY SRR
A F | (+ %) wEELY [ ag (S SRS (CE R C ) FOER)|(FR) (+ %)
1=1. 35%|R=1. 21%|»x & (+ BE(+ =) (+ =) % (+ =)
(4)=(2)x (+F=2)6) |=)(D (D=8 |(10)=(8)x  [(11)=(6)x (13)=>6)x |(14)=(8)+(9)+(10) |(15)=(14)/(1 NPV
(D (2) ~)(3) (5)=(4)/(1) (8)=(6)+(1) (12)=(6)x3%
(3) 3% 0. 887% 0. 038% 0. 62% +(ID+(12)+(13) D
111 |#1% 1.0000{ 1.0000 4,788 4,788 4,788 60, 000 10, 000 70,000 70,000 70,000 -65, 212
112 |#2% 1.0135] 1.0121 25, 308 25,614 25,273 240, 000 60, 000 300, 000 300, 000 296, 004 =210, 731
113 |#3= 1.0272] 1.0243 49, 248 50, 445 49,109 300, 000 50, 000 350, 000 350, 000 340, 732 -291, 623
114 |54 % 1.0411] 1.0367 76, 608 79, 420 76, 285 320, 000 80, 000 400, 000 400, 000 384, 209 -307, 924
115 |#5% 1.0552| 1.0492] 136,800{ 143,531 136, 023 380, 000 500, 000 880, 000 880, 000 833, 965 -697, 942
116 |%6= 1.0694| 1.0619] 136,800{ 145, 268 135, 841 60, 000 17,740 494 39, 000 8, 060 125,294 117,163 18,678
117 |#7% 1.0838| 1.0747  136,800[ 147,019 135, 651 60, 000 17,740 494 39,000 8, 060 125,294 115, 606 20, 045
118 |# 8= 1.0984| 1.0877) 136,800{ 148,797 135, 467 60, 000 17,740 494 39,000 8, 060 125,294 114,070 21, 397
119 |#9= 1.1132| 1.1009] 136,800[ 150,603 135, 288 60, 000 17,740 494 39, 000 8, 060 125,294 112, 553 22,135
120 |% 10 1.1282| 1.1142) 136,800{ 152,423 135,103 60, 000 17,740 494 39, 000 8, 060 125, 294 111, 057 24, 046
121 |5 11 1. 1434 1.1277) 136, 800{ 154, 269 134, 921 60, 000 17,740 494 39, 000 8, 060 125, 294 109, 580 25, 341
122 |5 12 1.1588| 1.1413| 136,800{ 156,130 134, 734 60, 000 17,740 494 39, 000 8, 060 125, 294 108, 124 26,610
123 |5 13 1.1744| 1.1551| 136,800{ 158,018 134, 552 60, 000 17,740 494 39, 000 8, 060 125, 294 106, 688 27, 864
124 |5 14 1.1903| 1.1691| 136,800{ 159,933 134, 364 60, 000 17,740 494 39, 000 8, 060 125, 294 105, 263 29,101
125 |% 15 1.2064| 1.1832| 136,800{ 161,862 134, 169 60, 000 17,740 494 39, 000 8, 060 125, 294 103, 858 30, 311
126 |% 16 = 1.2227 1.1975| 136,800 163,818 133, 981 60, 000 17,740 494 39, 000 8, 060 125, 294 102, 473 31,508
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= A

FTIF] B 4o 3
& EJ4 EFGHE |EHR & EAAT G [ AL EPSARE| ERE
+ FF+ o |lEg A £ E REFER - Ak
3 F |t (+ =) :‘;/z;gg;gi%ﬁ _,t[;g‘gg‘_?g(4 (+ =) (+ =) (+ =) %’3(4 =) (+ =) (+ =)
1=1.35%R=1. 21%|»= % (+ BE(+ =) (+ =) % (+ =)
(4)=(2)x (+F=2)6) |=)(D (9=8)x  |(10)=(8)x  [(11)=(6)x (13)=>6)x |(14)=(8)+(9+(10) |(15)=(14)/(1 NPV
(D (2) ~)(3) (5)=(4)/(1) (8)=(6)+(1) (12)=(6)x3%
(3 3% 0. 887% 0. 038% 0. 62% +(ID+(12)+(13) D
127 |%17 % 1.2392 1.2120] 136,800 165,802 133, 798 60, 000 17,740 494 39, 000 8, 060 125, 294 101,109 32, 689
128 |# 18 1.2559| 1.2267) 136,800 167,813 133, 620 60, 000 17,740 494 39,000 8, 060 125, 294 99, 764 33, 856
129 |5 19% 1.2729| 1.2415] 136,800{ 169,837 133, 425 60, 000 17,740 494 39, 000 8, 060 125, 294 98, 432 34,993
130 |# 20 % 1.2901| 1.2565 136,800[ 171,889 133, 237 60, 000 17,740 494 39, 000 8, 060 125, 294 97,120 36, 117
131 |%21 % 1.3075) 1.2717  136,800[ 173,969 133, 055 60, 000 17,740 494 39,000 8, 060 125, 294 95, 827 37, 228
132 |% 22 1.3252| 1.2871 136, 800f 176,075 132, 867 60, 000 17,740 494 39, 000 8, 060 125, 294 94, 547 38, 320
133 |% 23 1.3431) 1.3027  136,800[ 178,209 132, 685 60, 000 17,740 494 39, 000 8, 060 125, 294 93, 287 39, 398
134 |% 24 % 1.3612| 1.3185] 136,800{ 180,371 132, 509 60, 000 17,740 494 39, 000 8, 060 125,294 92, 047 40, 462
135 |% 25 1.3796| 1.3345] 136,800[ 182,560 132, 328 60, 000 17,740 494 39, 000 8, 060 125,294 90, 819 41, 509
136 |% 26 = 1.3982| 1.3506) 136,800[ 184,762 132, 143 60, 000 17,740 494 39, 000 8, 060 125,294 89, 611 42, 532
137 |5 271% 1.4171| 1.3669] 136,800] 186,992 131, 954 60, 000 17,740 494 39,000 8, 060 125, 294 88,416 43, 538
138 |% 28 & 1.4362| 1.3834| 136,800[ 189,249 131, 771 60, 000 17,740 494 39,000 8, 060 125, 294 87, 240 44, 531
139 | 29% 1.4556| 1.4001| 136,800{ 191,534 131, 584 60, 000 17,740 494 39,000 8, 060 125, 294 86, 077 45, 507
140 |% 30 & 1.4753| 1.4170] 136,800] 193, 846 131, 394 60, 000 17,740 494 39,000 8, 060 125, 294 84, 928 46, 466
141 |31 % 1.4952| 1.4341| 136,800 196,185 131, 210 60, 000 17,740 494 39,000 8, 060 125, 294 83, 197 47,413
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L3 AP EPD LA RER S B R OLE R A 414 (2/2)

FTIF] B 4 F
#3h3 A |EE #914 ERGFHE BT & RN e | E AL E2E A ALE
3 e EPFR (RKwEEY (HE gt (< |laRTED EEHE wE I
LA |t wE(F (5 () R (R )|+ (+2)
i=1. 35%R=1. 21% BE(F~)  |[(FR) ~) (+=) 7+ =)
~) (4)=(2)x (9)=8)x  |(10)=(8)x |(11)=(6)x (13)=>6)x [(14)=(8)+(9)+(10) |(15)=(14)/(1
(D (2) (5)=(4)/(1)|(6) ) (8)=(6)+(T) (12)=(6)x3% NPV
(3) (3) 3% 0. 887% 0. 038% 0. 62% +ADH+A2)+(13) D
142 |32 1.5154| 1.4515| 136,800[ 198, 565 131, 031 60, 000 17, 740 494 39, 000 8, 060 125, 294 82, 680 48, 351
143 |#% 33 & 1.5359| 1.4691| 136,800[ 200,973 130, 850 60, 000 17, 740 494 39, 000 8, 060 125, 294 81,577 49, 273
144 |% 34 # 1.5566| 1.4869| 136,800 203,408 130, 675 60, 000 17, 740 494 39, 000 8, 060 125, 294 80, 492 50, 183
145 |% 35 1.5776| 1.5049| 136,800[ 205,870 130, 496 60, 000 17, 740 494 39, 000 8,060 125, 294 79,421 51,075
146 | 36 = 1.5989| 1.5231| 136,800[ 208, 360 130, 315 60, 000 17, 740 494 39, 000 8, 060 125, 294 18, 363 51, 952
147 |% 37 1.6205| 1.5415| 136,800 210,877 130, 131 60, 000 17, 740 494 39, 000 8, 060 125, 294 17,318 52,813
148 | 38 & 1. 6424| 1.5602| 136,800{ 213,435 129, 953 60, 000 17, 740 494 39, 000 8, 060 125, 294 76, 287 53, 666
149 |% 39 # 1.6646| 1.5791| 136,800{ 216,021 129, 774 60, 000 17, 740 494 39, 000 8,060 125, 294 75, 270 54, 504
150 |# 40 & 1.6871| 1.5982| 136,800 218,634 129, 592 60, 000 17, 740 494 39, 000 8, 060 125, 294 74, 266 55, 326
151 |#41 % 1.7099| 1.6175| 136,800{ 221,274 129, 408 60, 000 17, 740 494 39, 000 8, 060 125, 294 73, 276 56, 132
152 |5 42« 1.7330{ 1.6371| 136,800[ 223,955 129, 230 60, 000 17, 740 494 39, 000 8, 060 125, 294 72,299 56, 931
153 |# 43« 1.7564| 1.6569| 136,800( 226, 664 129, 050 60, 000 17, 740 494 39, 000 8, 060 125, 294 71, 336 57, T14
154 |5 44 & 1.7801| 1.6769| 136,800[ 229, 400 128, 869 60, 000 17, 740 494 39,000 8, 060 125, 294 70, 386 58, 483
155 |#45 % 1.8041| 1.6972| 136,800 232,177 128, 694 60, 000 17, 740 494 39, 000 8, 060 125, 294 69, 450 59, 244
156 | 46 & 1.8285| 1.7177| 136,800[ 234,981 128, 510 60, 000 17, 740 494 39, 000 8, 060 125, 294 68, 523 59, 987
157 |%47% 1.8532| 1.7385 136,800{ 237, 827 128, 333 60, 000 17, 740 494 39, 000 8, 060 125, 294 67,610 60, 723
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= A

ITILF] i‘ﬂ 4 &
#3h3 |EE #914 ERGFHE BT & RN | E AL ELARE
3 F]3 EPorER R EF e gt (F|lAaRTER EEHE wE I
AF |t wE(F|(+R) (+2) |2 () CACEOINCED (+ %)
i=1. 35%R=1. 21% BE(F2)  |(FR) ~) (+=) 7+~
~) (4)=(2)x (9=C8)x |(10)=C8)x [(11)=(6)x (13)=(6)x |(14)=(8)+(9)+(10) |(15)=(14)/(1
(1 (2) (5)=(4)/(1)|(6) (7 (8)=(6)+(1) (12)=(6)x3% NPV
(3) (3) 3% 0. 887% 0. 038% 0. 62% +(AD+2)+(13) D
158 |% 48 1.8782| 1.7595 136,800[ 240,700 128, 155 60, 000 17, 740 494 39, 000 8, 060 125, 294 66, 710 61, 445
159 |%49# 1.9036| 1.7808| 136,800[ 243,613 127,975 60, 000 17, 740 494 39, 000 8, 060 125, 294 65, 819 62, 156
160 |% 50 & 1.9293| 1.8023] 136,800[ 246, 555 127,795 60, 000 17, 740 494 39, 000 8, 060 125, 294 64, 943 62, 852
161 |[%51« 1.9553| 1.8241| 132,012] 240, 803 123, 154 60, 000 17, 740 494 39,000 8, 060 125, 294 64,079 59, 075
162 |% 524 1.9817| 1.8462| 111,492 205,837 103, 869 60, 000 17, 740 494 39, 000 8, 060 125, 294 63, 226 40, 643
163 |% 53« 2.0085| 1.8685 87,552 163,591 81,449 60, 000 17, 740 494 39,000 8, 060 125, 294 62, 382 19, 067
164 |5 54 & 2.0356| 1.8911 60, 192 113, 829 55, 919 60, 000 17, 740 494 39,000 8, 060 125, 294 61,551 -9, 632
165 |[% 55 & 2.0631] 1.9140 0 0 0 60, 000 17, 740 494 39,000 8, 060 125, 294 60, 731 -60, 731
£y 6, 586, 356/ 1, 300, 000 700, 000 2,000,000 6, 222, 357 363, 999
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